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The following diagram (below on the left side) illustrates an application of Kruskal’s Algorithm.  The edges are considered by the algorithm in sorted order by weight starting with the smallest.  An arrow points to the edge under consideration at each step of the algorithm.  If that edge does not form a cycle, then it is emboldened (highlighted) and is included in the minimal spanning tree (MST).   If the edge under consideration forms a cycle, then it is not included (see diagram f, the edge connecting i and g).  
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	Use Kruskal’s Algorithm to find the weight of the MSTs below.  A highlighter may be helpful.
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